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(5) D$Om© V§ÌkmZ d AmpÊdH$ àH$ën,Amm¶grQ>r, AdH$me{dkmZ

D$Om© V§ÌkmZ d AmpÊdH$ àH$ën

1) Imbrbn¡H$s H$moUVm H$m`Xm ã ẁamo Am°’$ EZOu B{’${e`Ýgr (BEE) Mr ñWmnZm Am{U g‘mdoe H$aÊ`mMr VaVyX
H$aVmo?
1) D$Om© g§dY©Z H$m`Xm, 2001 2) D$Om© g§dY©Z H$m`Xm, 2002
3) D$Om© g§dY©Z H$m`Xm, 2010 4) D$Om© g§dY©Z H$m`Xm, 2011

1) Which of the following Acts provides for the establishment and incorporation of the Bureau of

Energy Efficiency (BEE) ?

1) Energy Conservation Act, 2001 2) Energy Conservation Act, 2002

3) Energy Conservation Act, 2010 4) Energy Conservation Act, 2011

2) Am{W©H$ df© 2021 ‘Ü ò ^maVmVrb CÚmoJm§Zr dmnaboë`m {dÚwV CO}Mr Q> o̧$dmar hmoVr:
1) 51% 2) 46% 3) 41% 4) 36%

2) The percentage of electrical power consumed by industries in India in the financial year 2021

was :

1) 51% 2) 46% 3) 41% 4) 36%

3) 31 {S>g|~a 2022 amoOr ^maVmVrb Ordmí‘ B§YZmnmgyZ EHy$U drO {Z{‘©Vr Amho:
1) 46,850 ‘oJmdmQ> 2) 1,67,750 ‘oJmdmQ> 3) 1,74,530 ‘oJmdmQ> 4) 2,35,809 ‘oJmdmQ>

3) Total electricity produce from fossil fuels in India, as on 31 December 2022 is :

1) 46,850 megawatts 2) 1,67,750 megawatts

3) 1,74,530 megawatts 4) 2,35,809 megawatts

4) 31 {S>g|~a 2022 À¶m ‘m{hVrZwgma, 2022-23 À¶m ‘hmamḯ>mÀ¶m Am{W©H$ gd}jUmZwgma, ‘hmamḯ> amÁ¶mV, Imbrbn¡H$s
H$moUË¶m joÌmMm drO {Z{‘©VrV gdm©{YH$ dmQ>m Amho?
1) Z¡g{J©H$ dm¶y 2) ^aVr-AmohmoQ>r 3) Ob 4) Am¡pîUH$

4) In the state of Maharashtra, which of the following sectors has the highest share in electricity

generation, according to the Economic Survey of Maharashtra 2022-23, as of 31 December

2022?

1) Natural gas 2) Tidal 3) Hydro 4) Thermal

5) BÝH°$ÝS>oÝg|Q> {Xdo gmYmaUnUo ............ À`m nm°da ’°ŠQ>ada MmbVmV.
1) 0.6 b°qJJ 2) 0.707 b°qJJ 3) 0.8 AJ«JÊ` 4) EH$Vm

5) Incandescent lamps normally operates at a power factor of .............

1) 0.6 lagging 2) 0.707 lagging 3) 0.8 leading 4) unity

6) VoOñdr gỳ ©àH$memÀ`m {Xder gỳ m©Ûmao {H$aUmoËgJ© hmoUmar D$Om© gw‘mao ............ AgVo.
1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 kw/m2 4) 200 kw/m2

6) The energy radiated by sun on a bright sunny day is about .............

1) 2.5 kw/m2 2) 1.0 kw/m2 3) 500 w/m2 4) 200 w/m2
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7) ‘moQ>a Am{U ñQ>mQ>©g©À`m Q>{‘©Zb ~m°Šg‘Yrb H$ZoŠeZgmR>r dmnaë`m OmUmè`m cdMrH$ ZimMr bm§~r ............ nojm
OmñV Zgmdr.
1) 500 go‘r 2) 1.25 ‘rQ>a 3) 2 ‘rQ>a 4) 5 ‘rQ>a

7) The length of the flexible conduit used for connection between the terminal boxes of motor and

starters shall not exceed .............

1) 500 cm 2) 1.25 metres 3) 2 metres 4) 5 metres

8) ñQ>oAaHo$g dm`[a¨J‘Ü ò, pñdMogMr g§»`m Amdí`H$ Amho ....... Am{U àH$ma .............
1) 2, qgJbdo 2) 2, XmoZ ‘mJ© 3) 3, qgJbdo 4) 3, XmoZ ‘mJ©

8) In staircase wiring, the number of switches required are ....... and of the type .............

1) 2,singleway 2) 2,two way 3) 3,singleway 4) 3,two way

9) BbopŠQ´H$b BÝñQ>m°boeZ‘Ü ò, g{H©$Q>À`m àdoemÀ`m {R>H$mUmnmgyZ gdm©V XyaÀ`m q~Xyn ª̀V J«mhH$m§À`m AmdmamV OmñVrV
OmñV ìhmoëQ>oO S´m°n .......... n ª̀V Agmdo.
1) 3% 2) 5% 3) 7% 4) 10%

9) In electrical installation, the maximum voltage drop should be upto .......... , at the consumer

premises from the point of entry of the circuit to the farthest point.

1) 3% 2) 5% 3) 7% 4) 10%

10) NFPA Am{U IEEE Zwgma J«mC§S> ao{PñQ>ÝgMo {e’$mag Ho$bobo ‘yë` H$m` Amho?
1) 5.0 Ω qH$dm Cƒ 2) 5.0 Ω qH$dm H$‘r 3) 25.0 Ω qH$dm H$‘r 4) 35.0 Ω qH$dm Cƒ

10) What is the recommended value of ground resistance according to the NFPA and the IEEE ?

1) 5.0 Ω or higher 2) 5.0 Ω or lower 3) 25.0 Ω or lower 4) 35.0 Ω or higher

11) {S>Pob B§OrZ nm°da ßbm§Q>Mm ghmæ`H$ drO dmna ............ Amho.
1) 2-4% 2) 13-21% 3) 8-10% 4) 5-8%

11) The auxiliary power consumption of diesel engine power plants are .............

1) 2-4% 2) 13-21% 3) 8—10% 4) 5-8%

12) gm¡a gobMr H$m ©̀j‘Vm gw‘mao ............ Amho.
1) 05% 2) 15% 3) 40% 4) 60%

12) The efficiency of solar cell is about .............

1) 05% 2) 15% 3) 40% 4) 60%

13) n§»`mMm doJ 10% H$‘r Ho$ë`mZo, pñWa Xm~ ......... H$‘r hmoVmo Am{U D$O}Mr Amdûm`H$Vm ............ Zo H$‘r hmoVo.
1) 10% Am{U 19% 2) 19% Am{U 27% 3) 10% Am{U 27% 4) 27% Am{U 10%

13) By reducing fan speed by 10%, static pressure reduces by and power requirement reduces by.............

1) 10% and 19% 2) 19% and 27% 3) 10% and 27% 4) 27% and 10%

14) n§»`mMm doJ 10% Zo dmT>ë`mg {dOoÀ`m JaOoMo H$m` hmoB©b?
1) {dOoMr JaO 17% Zo dmT>ob 2) {dOoMr JaO 27% dmT>ob
3) {dOoMr JaO 30% Zo dmT>ob 4) {dOoMr JaO 33% Zo dmT>ob
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14) What will happen to the power requirement when the speed of the fan is increased by 10% ?

1) Power requirement will increased by 17%

2) Power requirement will increase by 27%

3) Power requirement will increase by 30%

4) Power requirement will increase by 33%

15) Xwæ`‘ drO àofUmgmR>r Imbrbn¡H$s H$moUVm ìhmoëQ>oO ñVa dmnabm OmVmo?
1) 3.3 Ho$ìhr 2) 11 Ho$ìhr 3) 33 Ho$ìhr 4) 132 Ho$ìhr

15) Which of the following voltage levels is used for secondary power transmission ?

1) 3.3 kV 2) 11 kV 3) 33 kV 4) 132 kV

16) gmYmaUnUo, Imbrb ìhmoëQ>oOgmR>r BZS>moAa g~ñQ>oeZbm àmYmÝ` {Xbo OmVo:
1) 220 Ho$ìhr 2) 132 Ho$ìhr 3) 66 Ho$ìhr 4) 33 Ho$ìhr

16) Generally, an indoor substation is preferred for voltages up to :

1) 220 KV 2) 132 KV 3) 66 KV 4) 33 KV

17) 120 ‘rQ>a x 60 ‘rQ>a AmH$mamMr ’w$Q>~m°b IoinÅ>r amÌrÀ`m IoimgmR>r 12 Q>m°dg©da g‘{W©V g‘mZ 1000 S>ãë ỳ
{Xì`m§À`m ~±H$Ûmao àH$m{eV Ho$br OmVo Or IoinÅ>rda A§XmOo EH$g‘mZ àH$me àXmZ H$aÊ`mgmR>r ‘¡XmZm^modVr {dV[aV
Ho$br OmVo. EHy$U CËg{O©V hmoUmè`m àH$memÀ`m 40% hm Ioi IoinÅ>rn ª̀V nmohmoMVmo Am{U 1000 Im/mZ2 Mr
àXrnZ XyaXe©ZÀ`m CÔoemZo Amdûm`H$ Amho Ago J¥hrV Yê$Z. àË òH$ Q>m°dadarb {Xì`m§Mr g§»`m ‘moOm. {Xì`mMr EHy$U
H$m ©̀j‘Vm 30 Im/W Amho.
1) 100 2) 200 3) 150 4) 50

17) A football pitch 120 m x 60 m is to be illuminated for night play by a similar bank of equal 1000

W lamps supported on twelve towers which are distributed around the ground to provide

approximately uniform illumination of the pitch. Assuming that 40% of total light emitted reaches

the playing pitch and that illumination of 1000 Im/mZ2 is necessary for television purpose.

Calculate number of lamps on each tower. Overall efficiency of lamp is 30 Im/W.

1) 100 2) 200 3) 150 4) 50

18) S>rOr goQ>‘Ü ò, {S>Pob B§OrZ gm‘mÝ`V: ............ À`m doJmZo MmbVo.
1) 500-1200 rpm 2) 1300 - 3000 rpm 3) 3000-5000 rpm 4) 5000 rpm

18) In DG sets, diesel engine is typically running at speeds of .............

1) 500-1200 rpm 2) 1300 - 3000 rpm 3) 3000-5000 rpm 4) above 5000 rpm

19) A{WªJgmR>r ^maVr` ‘mZH g§{hVm ............ Amho.
1) IS 3043 2) IS3403 3) IS3040 4) IS4030

19) Indian Standard Code of Practice for earthing is .............

1) IS 3043 2) IS3403 3) IS3040 4) IS4030

20) ............. n ª̀V j‘VoMo {dVaU Q´mÝg’$m°‘©a ~g{dÊ`mgmR>r nmob g~ñQ>oeZ C^mabo AmhoV.
1) 50 kVA 2) 100 kVA 3) 250 kVA 4) 500 kVA

20) Pole substations are erected for mounting distribution transformers of capacity upto .............

1) 50 kVA 2) 100 kVA 3) 250 kVA 4) 500 kVA
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21) EbB©S>r bmB©Q>Mo Am ẁî` ............ n ª̀V Amho.
1) 1,000 Vmg 2) 3,000 Vmg 3) 4,000 Vmg 4) 1,00,000 Vmg

21) LED light life span is upto .............

1) 1,000 hours 2) 3,000 hours 3) 4,000 hours 4) 1,00,000 hours

22) Imbrbn¡H$s H$moUVm JQ> 'Am¡pîUH$ D$Om©' àH$ënmer g§~§YrV Amho?
1) ŵgmdi, Zm{eH$, CaU 2) Q´>må~o, S>hmUy, OiJmd
3) Vmamnya, CaU, R>mUo 4) M§Ðnya, H$mH«$mnmam, ŵgmdi

22) Which of the following groups is associated with “Thermal Power’’ plant ?

1) Bhusawal, Nashik, Uran 2) Trombe, Dahanu, Jalgaon

3) Tarapur, Uran, Thane 4) Chandrapur, Kakrapara, Bhusawal

23) ‘hmamï´>mÀ¶m gmVmam {OëømVrc ""dZHw$gdS>o"" ho {R>H$mU ............. gmR>r à{gÕ Amho.
1) cmHy$S> H$Q>mB© 2) ~m°³gmB©Q> CËIUZ 3) ndZ D$Om© {Z{‘©Vr 4) Oc{dÚwV CËnmXZ

23) "Vankusawade", a place in the Satara district of Maharashtra is famous for

1) Timber Cutting 2) Bauxite mining

3) Wind power generation 4) Hydroelectricity production

24) ¶mo½¶ OmoS>çm Owidm :
Am¡pîUH$ drO H|$Ð  {Oëhm
a) H$moamS>r i) am¶JS>
b) nmag ii) ZmJnya
c) CaU iii) OiJm§d
d) ’o$H$ar iv) AH$mobm
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (iii) (i)

4) (ii) (iv) (i) (iii)

24) Match the following :

Thermal Power Station District

a) Koradi i) Raigad

b) Paras ii) Nagpursibnl ci vit

c) Uran iii) Jalgaon

d) Fekari iv) Akola

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (iii) (i)

4) (ii) (iv) (i) (iii)
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25) ‘hm{dVaU ............. À`m AmYmao J«mhH$mÀ`m OmñVrV OmñV ‘mJUrMr JUZm H$aVo.
1) EH$m {XdgmV EHy$U kWH + 24
2) EH$m ‘{hÝ`mV H$moUË`mhr jUr H$mT>bobo gdm©V ‘moR>o kVA

3) H$moUË`mhr gbJ 30 {‘{ZQ>m§Xaå`mZ H$mT>bobm gdm©V ‘moR>m kVA. ñbm°Q>
4) EH$m {XdgmV EHy$U kVAH + 24

25) MSEDCL calculates maximum demand of a consumer on the basis of .............

1) Total kWH in a day + 24

2) Largest kVA drawn at any instant in a month

3) Largest kVA drawn during any consecutive 30 min. slot

4) Total kVAH in a day + 24

26) ...... Zo {Xboë¶m gyÌmZwgma nXmW© Am{U D$Om© ho XmoÝhr EH$‘oH$m§er g§~§{YV AmhoV:
1) Aë~Q>© AmB©ÝñQ>mB©Z 2) Ý¶yQ>Z 3) ê$Xa’$moS>© 4) ‘°Šgdob

26) Both matter and energy are related to each other by a formula given by:

1) Albert Einstein 2) Newton 3) Rutherford 4) Maxw

27) Imbrb {dYmZmV H$moUVm H$m`Xm {Xbm Amho?
pñWa ÐdnXmWm©Vrb EH$m q~Xyda Xm~ qH$dm Xm~mMr Vrd«Vm gd© {Xem§Zm g‘mZ AgVo.
1) Ý ỳQ>ZMm {Z`‘ 2) nmñH$bMm {Z`‘
3) Amo‘Mm {Z`‘ 4) W‘m}S>m`Zm{‘ŠgMm Xwgam {Z`‘

27) Which law is given in the following statement ?

“The pressure or intensity of pressure a t a point in a static fluid is equal in all directions.”

1) Newton’s law 2) Pascal’s law

3) Ohm’s law 4) Second law of Thermodynamics

28)  ............. ñV§̂ mÀ`m ~H$qbJgmR>r bhmZ Vo bm§~ ñV§̂ m§n ª̀VÀ`m ñV§̂ m§À`m gd© Ho$goggmR>r `mo½` n[aUm‘ {‘iVmo.
1) ẁbaMo gyÌ 2) a±H$mB©ZMo gyÌ
3) ‘mohaMo gyÌ 4) Hw$bm°å~Mo gyÌ

28) ............. for buckling of column gives fairly correct result for all cases of columns ranging from

short to long columns.

1) Euler’s formula 2) Rankine’s formula

3) Mohr’s formula 4) Coulomb’s formula

29) D$O}Mo EH$m ê$nmVyZ Xwg`m© ê$nmV ê$nm§Va H$aVm ̀ oVo na§Vw Vr {Z‘m©U qH$dm Zï> H$aVm ̀ oV Zmhr. {dl²dmVrb EHy$U CO}Mo
à‘mU pñWa AgVo. ho ...... H$m`ÚmMo {dYmZ Amho.
1) JwéËdr` ~b 2) na‘mUw ~b
3) D$O}Mo g§dY©Z 4) amgm`{ZH$ JVremó

29) Energy can be transformed from one form to another but it cannot be created or destroyed. The

total amount of energy in a universe remains constant. This is the statement of Law of ......

1) Gravitational Force 2) Nuclear Force

3) Conservation of Energy 4) Chemical Kinetics
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30) Aj` D$Om© òmoV ........... åhUyZ AmoiIbo OmVmV.
1) àmW{‘H$ D$Om© òmoV 2) Xwæ`‘ D$Om© òmoV
3) ì`mdgm{`H$ D$Om© òmoV 4) Aj` D$Om© òmoV

30) Inexhaustible energy sources are known as .............

1) Primary energy sources 2) Secondary energy sources

3) Commercial energy sources 4) Renewable energy sources

31) H$moUË`m àH$maMo àH$ën ŷ-Am¡pîUH$ Ðd dmnaVmV Oo Cî‘m EŠgM|Oa‘YyZ Xwæ`‘ ÐdnXmWm©Zo OmVmV Am{U Z§Va
Q>~m©BZ MmbdVmV, OZaoQ>a {’$aVmV Am{U drO {Z‘m©U H$aVmV?
1) âb°e ñQ>r‘ nm°da ßbm§Q²g 2) S´m` ñQ>r‘ nm°da ßbm§Q²g
3) ~m`Zar-gm`H$b nm°da ßbm§Q²g 4) S>m`aoŠQ> hrQ> Q´mÝg’$a nm°da ßbm§Q²g

31) Which types of plants use the geothermal fluids that pass through a heat exchanger with a

secondary fluid and then, drive the turbines, spin the generators and creat electricity ?

1) Flash steam power plants 2) Dry steam power plants

3) Binary-cycle power plants 4) Direct heat transfer power plants

32) CÁdb {S>ñH$m°‘ A°í¶waÝg ¶moOZm H$moUr gwê$ Ho$br ?
1) H|$Ð gaH$ma 2) amÁ¶ gaH$ma 3) ‘hmamï´> {dÚwV ~moS>© 4) OrdZ {d‘m {ZJ‘

32) Who launched Ujwal Discom Assurance Yojana ?

1) Central Government 2) State Government

3) Maharashtra Electricity Board 4) Life Insurance Corporation

33) Imbrbn¡H$s H$moUVr EH$mpË‘H$ D$Om© {dH$mg ¶moOZoMr C{Ôï>o AmhoV?
A) {dVaU Omio geº$ H$aUo
~) eoVH$è¶m§Zm AZwXm{ZV drO nwa{dUo
H$) D$Om© {dVaU joÌmV ‘m{hVr-V§ÌkmZmMm dmna H$aUo.
n¶m©¶r CÎmao …
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A Am{U H$ ’$º$ 4) darbn¡H$s gd©

33) Which of the following are the objectives of Integrated Power Development Scheme(IPDS) ?

a) Strengthening distribution network

b) Providing subsidised power to farmers

c) Use of information technology in power distribution sector

Answer Options :

1) a and b only 2) b and c only 3) a and c only 4) All of these

34) ............. hm Anma§n[aH$ D$Om© ómoV Zmhr
1) ndZ D$Om© 2) gm¡a D$Om© 3) Oc{dÚwV 4) ~m¶moJ¡g D$Om©

34) ............is not a non-conventional power source.

1) Wind power  2) Solar power 3) Hydro power 4) Bio-gas power

35) Imbrbn¡H$s H$moUVm CO}Mm àmW{‘H$ ómoV Amho?
1) O¡dB§YZ 2) H$ƒo Vob 3) J°gmobrZ 4) hm`S´moOZ

35) Which of the following is a primary source of energy ?

1) Biofuels 2) Crude oil 3) Gasoline 4) Hydrogen
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36) ŷJ^u` D$Om© àH$ënmV Imbrbn¡H$s H$moUVo V§ÌkmZ dmnabo OmV Zmhr?
1) H$moaS>m àdmh 2) Amobm àdmh 3) âb°e àdmh  4) ~m`Zar MH«$

36) Which of the following technologies is NOT used in a geothernal power plant ?

1) Dry stream 2) Wet stream 3) Flash stream 4) Binary cycle

37) Imbrbn¡H$s H$moUË`m àH$maÀ`m n§»`m§Mr H$m ©̀j‘Vm OmñVrV OmñV Amho?
1) àmonoba Ajr` n§Im 2) àoea ãbmoAa g|Q´râ ỳJb ’°Z
3) ao{S>`b g|Q´râ ỳJb ’°Z 4) ìhoZ Ajr` n§Im

37) Which of the following types of fans has the maximum efficiency ?

1) Propeller axial fan 2) Pressure blower centrifugal fan

3) Radial centrifugal fan 4) Vane axial fan

38) Oyb/goH§$X `mbm ......... Agohr åhUVmV.
1) kWh 2) W 3) Wb/s 4) kWh/s

38) Joules/second is also called as .............

1) kWh 2) W 3) Wb/s 4) kWh/s

39) à{V Mm¡ag ‘rQ>a EH$ bw‘oZ ............ gmaIo Amho.
1) EH$ bŠg 2) EH$ ‘oU~Îmr 3) EH$ ’y$Q> ‘oU~Îmr 4) EH$ bw‘oZ ‘rQ>a

39) One lumen per square meter is same as .............

1) One lux 2) One candle 3) One foot candle 4) One lumen meter

40) {d{eï> CîUVoMo, gr. Or. Eg. àUmbrVrb EH$H$ ........... ho Amho.
1) H°$barO/J«°‘ 2) H°$carO/J«°‘ {S>J«r gopëgAg
3) H°$carO {S>J«r gopëgAg/J«°‘ 4) darbn¡H$s H$moUVoM Zmhr

40) Unit of specific heat in C.G.S. system is

1) Callories/gram 2) Calories/gramOC

3) Calories OC/gram 4) None of these

41) UPS ~°Q>ar gobMr j‘Vm ............ ‘Ü ò ‘moObr OmVo.
1) d°Q> Vmg 2) d°Q²g 3) A±{nAa 4) A±{nAa-Vmg

41) Capacity of UPS battery cell is measured in .............

1) Watt hours 2) Watts 3) Amperes 4) Ampere-hour

42) WoQ> gm¡a {d{H$aU ‘moOÊ`mMo gmYZ Amho
1) ~°amo‘rQ>a 2) gZemB©Z [aS>a 3) hm`J«mo‘rQ>a 4) nm`ao{bAmo‘rQ>a

42) Direct Solar radiation measuring instrument is

1) Barometer 2) Sunshine reader 3) Hygrometer 4) Pyrheliometers

43) {d‘mZm^modVr hdoMm àdmh ‘moOÊ`mgmR>r dmnabo OmUmao §̀Ì ............ Amho.
1) amoQ>m‘rQ>a 2) ìh|À ẁ[a‘rQ>a 3) A°{Z‘mo‘rQ>a 4) `mn¡H$s Zmhr

43) The device used for measuring flow of air around an aeroplane is .............

1) Rotameter 2) Venturimeter 3) Anemometer 4) None of these
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44) bm¶{g‘rQ>aMm dmna ................ ‘moOÊ`mgmR>r Ho$bm OmVmo.
1) KwgImoar 2) ~mînr^dZ 3) ~mînr^dZ 4) ~mîn Xm~

44) Lysimeter is used to measure ................

1) Infiltration 2) Evaporation 3) Evapotranspiration 4) Vapour pressure

45) {nPmo‘rQ>a ............ Mo ‘mnZ H$aVo.
1) ñWm{ZH$ dmVmdaUmMm Xm~ 2) Xm~mMr bhmZ n[a‘mU
3) ‘moR>m ìh°Š ỳ‘ Xm~ 4) EHy$U S>moHo$

45) A piezometer gives ..............

1) local atmospheric pressure 2) small magnitude of pressure

3) large vacuum pressure 4) total head

46) Imbrbn¡H$s H$moUVr A§Va ‘moOÊ`mMr AàË`j nÕV Zmhr?
1) Q>°H$mo‘oQ´r 2) AmoS>mo‘rQ>a
3) {ÌH$moU{‘Vr` ñVarH$aU 4) {dÚwV Mw§~H$s` A§Va ‘moO‘mn

46) Which of the following is not an indirect method of measuring distances ?

1) Tacheometry 2) Odometer

3) Trigonometric Levelling 4) Electromagnetic Distance Measurement

47) Imbrb {dYmZo {dMmamV ¿`m : ‘mnZ §̀ÌmV,
a) g§doXZerbVonojm aoIr`Vm ‘hÎdmMr Amho.
b) Cƒ AMyH$Vm Cƒ AMyH$Vm Xe©dVo.
c) AMyH$Vm R>amdmnojm Mm§Jbr Agy eH$V Zmhr.
`m {dYmZm§n¡H$s -
1) a, b Am{U c ~amo~a AmhoV 2) a Am{U b ~amo~a AmhoV
3) b Am{U c ~amo~a AmhoV 4) a Am{U c ~amo~a AmhoV

47) Consider the following statements : In a measuring instrument,

a) Linearity is more important than sensitivity.

b) High precision indicates high accuracy.

c) Accuracy can not be better than resolution.

Of these statements -

1) a, b and c are correct 2) a and b are correct

3) b and c are correct 4) a and c are correct

48) âboq‘JÀ`m S>mì`m hmVmÀ`m {Z`‘mV
n{hbo ~moQ> .......... Mr {Xem Xe©dVo
Xwgao ~moQ> ........... Mr {Xem Xe©dVo.
A§JR>m ........... Mr {Xem Xe©dVmo.
AZwH«$‘o -
1) ~b, Mw§~H$s` joÌ, àdmh 2) Mw§~H$s` joÌ, {dÚwV² àdmh, ~b
3) Mw§~H$s` joÌ, ào[aV B©E‘E’$, ~b 4) dV©‘mZ, Mw§~H$s` joÌ, ~b
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48) In Fleming’s Left Hand Rule

First finger indicates direction of ..........

Second finger indicates direction of ...........

Thumb indicates direction of ...........

respectively -

1) Force, magnetic field, current 2) Magnetic field, current, force

3) Magnetic field, induced emf, force 4) Current, magnetic field, force

49) àXrnZ KQ>Zm àdmhmÀ`m {Xeogh gm‘mÝ` Vo àH$m{eV n¥ð>^mJmÛmao ~Z{dboë`m H$moZmÀ`m H$mogmBZÀ`m WoQ> à‘mUmV
AgVo. darb {dYmZ ............ er g§~§{YV Amho.
1) b°å~Q>©Mm H$mogmBZ {Z`‘ 2) ßb±H$Mm {Z`‘
3) ~ZgoZMm àXrnZ {Z`‘ 4) ‘°H$~oWMm àXrnZ {Z`‘

49) The illumination is directly proportional to cosine of the angle made by the normal to illuminated

surface with the direction of the incident flux. The above statement is associated with .............

1) Lambert’s cosine law2) Planck’s law

3) Bunsen’s law of illumination 4) Macbeth’s law of illumination

50) Imbrbn¡H$s H$moUË`m ~gogÀ`m ~m~VrV ìhmoëQ>oO ‘°{¾À ẁS> Am{U ~g‘Yrb g{H«$` eº$s {Z{X©ï> Ho$br Amho?
1) bmoS> ~g 2) OZaoQ>a ~g 3) PQ ~g 4) pñd§J ~g

50) In case of which of the following buses are the voltage magnitude and the active power at the bus

specified ?

1) Load bus 2) Generator bus 3) PQ bus 4) Swing bus

51) AmXe© Q´mÝg’$m°‘©a‘Ü ò ............ Mr d¡{eï²> ò AmhoV.
1) H$‘r nmaJå`Vm, Mw§~H$s` JiVr Zmhr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
2) H$‘r nmaJå`Vm, Mw§~H$s` JiVr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
3) Cƒ nmaJå`Vm, Mw§~H$s` JiVr Zmhr, à{VH$ma Zmhr, ZwH$gmZ Zmhr
4) Cƒ nmaJå`Vm, Mw§~H$s` JiVr Zmhr, ZwH$gmZmgh bjUr` à{VH$ma

51) Ideal transformer have the features of .............

1) Low permeability, no magnetic leakage, no resistance, no losses

2) Low permetability, magnetic leakage, no resistance, no losses

3) HIgh permeability, no magnetic leakage, no resistance, no losses

4) High permeability, no magnetic leakage, considerable resistance with lossess

52) EMìhrS>rgr Q´mÝg{‘eZ bmBZMo Imbrbn¡H$s H$moUVo KQ>H$ HVDC ê$nm§VaU Am{U AC-to-DC ê$nm§VaUmgmR>r
dmnabo OmVmV?
1) JwiJwirV AUŵ Å>r 2) ~ma‘mo{ZH$ {’$ëQ>a
3) H$ZdQ>©a 4) DC bmB©Ýg

52) Which of the following components of an HVDC transmission line is used for AC-to-DC

conversion and DC-to-AC conversion ?

1) Smooth reactor 2) Barmonic filter

3) Converter 4) DC lines
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53) HVDC bmB©ZÀ`m VwbZoV HVAC bmB©Z~Ôb Imbrbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) ho bm§~ A§Vamda ‘moR>çm à‘mUmV nm°da Q´mÝg{‘eZgmR>r dmnabo OmVo
2) Ë`mÀ`m dmnam‘wio H$‘r Q´mÝg{‘eZ ZwH$gmZ hmoVo.
3) ho ghOnUo ìhmoëQ>oO nmVir dmT>dVo.
4) Ë`mÀ`m dmnam‘Ü ò H$‘r ìhmoëQ>oO MT>CVmam§Mm g‘mdoe hmoVmo.

53) Which of the following statements is INCORRECT about an HVDC line compared to an HVAC

line ?

1) It is used for bulk power transmission over long distances

2) Its use incurs low transmission losses.

3) It easily increases the voltage level.

4) Its use involves less voltage fluctuations.

54) CnH$aUm§‘Yrb Zm°Z-bmBZa dV©Z emoYÊ`mgmR>r Imbrbn¡H$s H$moUVr JwUY‘©(ies) ‘hÎdmMr AmhoV/AmhoV?
1) g§n¥º$Vm 2) ‘¥V joÌ 3) {hñQ>oao{gg 4) darb gd©

54) Which of the following property(ies) is/are important in detecting non-linear behaviour in devices?

1) Saturation 2) Dead zone 3) Hysteresis 4) All the above

55) {~«O Q>mB©n ac/dc H$ÝìhQ>©agh ’«$sìhrqbJ S>m`moS> dmnaÊ`mMm ’$m`Xm ............ Amho.
1) arOZao{Q>ìh ~«oqH$J 2) {dídgZr` doJ {Z §̀ÌU
3) gwYm[aV nm°da ’°$ŠQ>a 4) {gñQ>‘Mr H$‘r qH$‘V

55) The advantage of using a freewheeling diode with bridge type ac/dc converter is .............

1) Regenerative braking 2) Reliable speed control

3) Improved power factor 4) Reduced cost of the system

56) bm§~ Q´mÝg{‘eZ bmBÝg ............ Ûmao Xe©{dë`m OmVmV.
1) Zm‘‘mÌ Pi ‘m°S>ob 2) Zm‘‘mÌ T ‘m°S>ob
3) g‘Vwë` Pi ‘m°S>ob 4) darb gd©

56) Long transmission lines are represented by .............

1) Nominal Pi model 2) Nominal T model

3) Equivalent Pi Model 4) All of the above

57) ßb±Q>‘Ü ò ñWm{nV Ho$ë`mda ñd §̀M{bV nm°da ’°$ŠQ>a H§$Q´mobagh H°$no{gQ>a.............
1) dZñnVrMo ìhmoëQ>oO H$‘r H$aVo
2) dZñnVrMm ^ma àdmh dmT>dVo
3) {J«S>‘YyZ H$mT>bobr à{V{H«$`merb eº$s H$‘r H$aVo
4) {J«S>‘YyZ H$mT>bobr g{H«$` eº$s H$‘r H$aVo

57) Capacitors with automatic power factor controller when installed in a plant .............

1) reduces the voltage of the plant

2) increases the load current of the plant

3) reduces the reactive power drawn from the grid

4) reduces the active power drawn from the grid
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58) {S>Pob nm°da ßbm§Q>Mm Adb§~ H$aÊ`mMm ’$m`Xm Imbrbà‘mUo Zmhr H$m?
1) H$‘r àXyfU 2) H$‘r ñWmnZm IM©
3) gdm©V H$m ©̀j‘ dZñnVr H$m‘{Jar 4) {H$‘mZ W§S> nmÊ`mMr Amdûm`H$Vm

58) Following is not the advantage of adopting diesel power plant ?

1) less pollution 2) low installation cost

3) most efficient plant performance 4) minimum cooling water requirements

59) Imbrbn¡H$s H$moUË`m àH$maMm n§n àH$ënmVrb nmÊ¶mMr JiVr H$mT>Ê`mgmR>r dmnabm OmVmo?
1) S´mâQ> n§n 2) Ðmj n§n 3) ŚoZoO n§n 4) Q>§{~«b n§n

59) Which of the following types of pump is used for removing leakage water from a plant ?

1) Draught pump 2) Grape pump 3) Drainage pump 4) Tumbril pump

60) ’$m`a hm`S§́Q> Am{U ñào {gñQ>r‘ åhUyZ Imbrbn¡H$s H$moUVo nwadbo OmVo?
1) ObgmR>m 2) nmÊ`mMo n§n
3) B§noba 4) hm`S§́Q> Am{U EMìhrS>ãë¶yEgEg

60) Which of the following is provided as a fire hydrant and spray system ?

1) Water reservoir 2) Water pumps

3) Impeller 4) Hydrant and HVWSS

61) Imbrbn¡H$s H$moUVm àH$ma ~moJÚm§‘Ü ò dmnabm OmV Zmhr?
1) OiË`m VobmMm dmna H$ê$Z {Xdo Am{U H§$Xrb 2) Jmo~a J°gMr àH$me`moOZm
3) H$moigm dm ỳ àH$me 4) E{g{Q>brZ bmBqQ>J

61) Which of the following is not the type of lighting used in tunnels ?

1) Lamps and lanterns using burning oil 2) Gobar gas lighting

3) Coal gas lighting 4) Acetylene lighting

62) ãbmpñQ>§J Am°naoeZ‘Ü ò dmnaë`m OmUmè¶m BbopŠQ´H$ {S>Q>moZoQ>g©À`m g§X^m©V Imbrb {dYmZo {dMmamV ¿`m:
a) Vo gwa{jV Am{U {Z{íMV AmhoV.
b) Vo Amdí`H$ {db§~mZo {N>Ð nmS>Ê`mMr nadmZJr XoV ZmhrV.
c) Vo ObamoYH$ ZmhrV.
d) ãbmpñQ>§J â ỳOÀ`m VwbZoV B{¾eZMr à{H«$`m {ZVi Amho.
darbn¡H$s H$moUVo {dYmZ MwH$sMo Amho?
1) ’$º$ (a) Am{U (b) 2) ’$º$ (b) Am{U (c)

3) ’$º$ (a), (b) Am{U (c) 4) ’$º$ (a), (c) Am{U (d)

62) Consider the following statements with respect to electric detonators used in blasting operations:

a) They are safe and certain.

b) They do not permit successive firing of holes with required delay.

c) They are not waterproof.

d) The process of ignition is smoother as compared to blasting fuse.

Which of the above statements islare incorrect ?

1) Only (a) and (b) 2) Only (b) and (c)

3) Only (a), (b) and (c) 4) Only (a), (c) and (d)
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63) EAa ãbmñQ> g{H©$Q> ~«oH$agmR>r Imbrbn¡H$s H$moUVo gË` Zmhr?
1) Am°naoeZMm Cƒ doJ 2) Cƒ XoI^mb
3) H$‘r AmJrMo YmoHo$ 4) dma§dma Am°naoeZgmR>r pñWaVm

63) Which of the following is NOT true for the air blast circuit breaker?

1) High speed of operation 2) High maintenance

3) Less fire hazards 4) Stability for frequent operation

64) nmoQ>|{e`mo‘rQ>a Q´mÝgS>çyga ê$nm§V[aV H$aVo :
1) ìhmoëQ>oOMm Xm~ 2) Vmn‘mZ Vo ìhmoëQ>oO
3) Vmn‘mZ Vo à{VamoYH$ 4) {dñWmnZ Vo à{VamoY

64) Potentiometer as a transducer converts :

1) pressure to voltage 2) temperature to voltage

3) temperature to resistance 4) displacement to resistance

65)  UPS BÝìhQ>©abm ~m`nmg H$aÊ`mgmR>r Imbrbn¡H$s H$moUVm dmnabm OmVmo, Ooìhm Am°ZbmBZ  UPS À`m ~m~VrV
 UPS BÝìhQ>©a‘Ü ò Xmof {Z‘m©U hmoVmo?
1) DIAC 2) TRIAC 3) GTO 4)SCR

65) Which of the following is used to bypass the UPS inverter, only when a fault develops in the UPS

inverter in case of an online UPS ?

1) DIAC 2) TRIAC 3) GTO 4) SCR

66) ìhmoëQ>oO {dê$nU nmVir ............ `mda Adb§~yZ AgVo.
1) g{H©$Q> à{V~mYm Am{U EHy$U hm‘m}{ZH$ {dÚwV {dH¥$Vr
2) g{H©$Q> à{V~mYm Am{U EHy$U hm‘m}{ZH$ ìhmoëQ>oO {dH¥$Vr
3) nm°da ’°ŠQ>a Am{U g{H©$Q> à{V~mYm
4) darbn¡H$s H$mhrhr Zmhr

66) The voltage distortion level depends on .............

1) the circuit impedances and the overall harmonic current distortion

2) the circuit impedances and the overall harmonic voltage distortion

3) power factor and the circuit impedances

4) none of the above

67) DC EodOr AC nwadR>çmda âbmoamog|Q> {Xdm MmbdÊ`mMm ’$m`Xm ............ Amho.
1) H$m ©̀j‘VoV gwYmaUm 2) IMm©V KQ>
3) XrKm©̀ wî` 4) ñQ´mo~moñH$mo{nH$ à^mdmMo {Z‘y©bZ

67) The advantage of operating fluorescent lamp on DC supply instead of an AC is .............

1) Improvement in efficiency 2) Reduction in cost

3) Longer life 4) Elimination of stroboscopic effect

68) bmB©qQ>J {gñQ>r‘‘Ü ò ñWm{nV bmoS> B{’$H°$grMo EH$H$ H$m` Amho?
1) d°Q²g à{V bw‘oZ (W/lm)

2) bw‘oZ à{V g{H©$Q> d°Q>(lm/W)

3) d°Q²g à{V Mm¡ag ‘rQ>a à{V 100 bŠg (W/m2/100 lux)

4) bŠg à{V d°Q> à{V Mm¡ag ‘rQ>a (bŠg/S>ãë ỳ/E‘2)
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68) What is the unit of installed load efficacy in a lighting system ?

1) Watts per lumen (W/lm)

2) Lumens per circuit watt (lm/W)

3) Watts per square metre per 100 lux (W/m2/100 lux)

4) Lux per watt per square metre (lux/W/m2)

69) añË`mdarb àH$memgmR>r Imbrbn¡H$s H$moUVm {Xdm A{YH$ `mo½` Amho?
1) h°bmoOZ {Xdm 2) Cƒ Xm~mMm nmam {Xdm
4) Cƒ Xm~ gmo{S>`‘ {Xdm 4) ‘oQ>b h°bmBS> {Xdm

69) Which of the following lamps is more suitable for street lighting ?

1) Halogen lamp 2) High pressure mercury lamp

4) High pressure sodium lamp 4) Metal halide lamp

70) ~moJÚmÀ`m àH$memer g§~§{YV Imbrb {dYmZo {dMmamV ¿`m :
A) {Xì`m§Mo A§Va àH$me òmoVmÀ`m AmH$mamda Adb§~yZ Agob.
~) {Xì`m§Mo A§Va ~moJÚmÀ`m n[a‘mUm§da Adb§~yZ Agob.
H$) OmñV d°Q>oOMo H$‘r {Xdo AgUo Bï> Amho.
S>) bhmZ d°Q>oOMo A{YH$ {Xdo AgUo Bï> Amho.
darbn¡H$s H$moUVr {dYmZo ~amo~a AmhoV?
1) (A) Am{U (~) 2) (A), (H$) Am{U (S>)
3) (A), (~) Am{U (S>) 4) (~) Am{U (H$)

70) Consider the following statements related to tunnel lighting :

a) The spacing of lights will depend on size of light source.

b) The spacing of lights will depend on tunnel dimensions.

c) It is desirable to have few lights of more wattage.

d) It is desirable to have more lights of small wattage.

Which of the above statements are correct ?

1) (a) and (b) 2) (a), (c) and (d)

3) (a), (b) and (d) 4) (b) and (c)

71) crdZhÿH$Zo H$m¶ Ho$co ?
1) ~ma³¶m {H$S>çm§nmgyZ AÞgmR>m ~Zdcm
2) àM{cV g‘mOì¶dñWocm nmR>~i {Xco.
3) CËñ’y$V© OZZmMm {gÕm§V ‘m§S>cm
4) { §̂J VmgyZ ~ma³¶m {H$S>çm§Mo {ZarjU Ho$co.

71) According to this passage, what did Leeuwenhoek do ?

1) He created a focd reserve out of small microbes

2) He supported the established social system

3) He proposed the theory of arbitrary creation

4) He sharpened the lens and observed small microbes
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72) Imbrb n[apñWVrÀ`m g§X^m©V n`m©̀  (1) Vo (4) ‘Yrb MwH$sMo {dYmZ {ZdS>m.
{gñQ>‘ {dVaU ZwH$gmZ Am°pßQ>‘m`PoeZ‘Ü ò, CnbãY {d{dY n`m©̀ m§Mm g‘mdoe hmoVmo
1) nm°da ’°$ŠQ>a gwYmaUm.
2) {gpñQ>‘‘Ü ò Q´mÝg’$m°‘©aMo Bï>V‘ bmoqS>J.
3) OoWo ìhmoëQ>oOMo W|~ OmñV AmhoV Aem ’$sS>g© Am{U bmBÝgMo ar-ê$Q>tJ Am{U ar-H§$S>pŠQ>§J.
4) gd© A°ë ẁ{‘{Z`‘ {‘l YmVy H§$S>ŠQ>a (AAAC) EodOr Aë ẁ{‘{Z`‘ H$moQ>oS> ñQ>rb [aEÝ’$moñS>© (ACSR) Mr {ZdS>.

72) Select the incorrect statement from options (1) to (4) with respect to following scenario.

“In system distribution loss optimization, the various options available include

1) power factor improvement.

2) optimum loading of transformers in the system.

3) re-routing and re-conducting such feeders and lines where the voltage drops are higher.

4) selection of Aluminium Cored Steel Reinforced (ACSR) instead of All Aluminium Alloy

Conductors (AAAC).

73) ‘m{gH$ Cn`mo{JVm drO {~bm‘Ü ò Xe©{dë`mà‘mUo CÚmoJmV dmnaë`m OmUmè`m {dOoMr H$‘mb ‘mJUr (MD) ...... Amho.
1) kW ‘Ü ò ‘§Oya bmoS>
2) ‘{hÝ`m‘Ü ò gamgar kVA Zm|Xdbo Jobo
3) ‘{hÝ`mÀ`m AmV H$moUË`mhr EH$m ‘mJUrÀ`m A§VamZo Zm|Xdbobo gdm}ƒ gamgar kVA

4) VmËH$mi gdm}ƒ kVA ‘{hÝ`mÀ`m AmV H$moUË`mhr doir Zm|Xdbo Jobo
73) Maximum Demand (MD) of electricity used in industry as shown in a monthly utility electricity

bill is the .............

1) sanctioned load in kW

2) average kVA recorded within the month

3) highest average kVA recorded during any one demand interval within the month

4) instantaneous highest kVA recorded during any point of time within the month

AUw{dkmZ

1) {dI§S>Z à{H«$ ògmR>r AmpÊdH$ AUŵ Å>r‘Ü ò dmnabo OmUmao AUwB§YZ åhUyZ Imbrbn¡H$s H$moUVm n`m©̀  MwH$sMm Amho?
1) Wmo[a`‘-232 2) ẁao{Z`‘-233 3) H±S>{‘`‘-253 4) ßbwQ>mo{Z`‘-239

1) Which of the following options is INCORRECT as a nuclear fuel used in a nuclear reactor for the

fission process ?

1) Thorium-232 2) Uranium-233 3) Candmium-253 4) Plutonium-239

2) n¥Ïdrbm gw‘mao 300° K Mo CËg{O©V hmoUmao H¥$îU eara ‘mZbo OmVo Am{U Vr gw‘mao 9.7 ‘m`H«$mo‘rQ>a ........... À¶m
àmaUm§Mo CËgO©Z H$aVo.
1) {dÚwV Mw§~H$s` {d{H$aU 2) bKw bhar {d{H$aU
3) BÝewcoeZ 4) j-{H$aU

2) The earths considered a black body at about 300° K emitting with peak emission at around 9.7

micrometre ..........

1) electro-magnetic radiation 2) short wave radiation

3) insulation 4) X-ray
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3) Ooìhm α - H$U {H$aUmoËgmar KQ>H$mVyZ ~mhoa nS>VmV Voìhm ...........
1) AUwA§H$ 2 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 4 Zo H$‘r hmoVmo.
2) AUwA§H$ 1 Zo H$‘r hmoVmo Am{U AUwdñVw‘mZm§H$ 2 Zo H$‘r hmoVmo.
3) AUwA§H$ 1 Zo dmT>Vmo.
4) AUwA§H$ Am{U AUwdñVw‘mZ§mH$ ~XcV Zmhr.

3) When  particle emits from a radioactive element then

1) atomic number decreases by 2 and mass number decreases by 4

2) atomic number decreases by 1 and mass number decreases by 2

3) atomic number increases by 1

4) atomic number and mass number remains same

4) Imbrbn¡H$s H$moUVo gdm©V ôXH$ Amho?
1) Aë’$m H$U 2) Bbo³Q´>m°Z 3) nm°PrQ´>m°Z 4) J°‘m {H$aU

4) Which of the following is the most penetrating ?

1) An alpha particle 2) An electron 3) A positron 4) A gamma ray

5) nmU~wS>rVrb ŷJ^m©Vrb nmÊ`mMm {dgJ© VQ>r` nmÊ`mVrb ......... dmnê$Z CÎm‘ àH$mao emoYbm OmD$ eH$Vmo.
1) NIR B‘oOar 2) aS>ma B‘oOar 3) W‘©b B‘oOar 4) LiDAR B‘oOar

5) Submarine groundwater discharge in coastal waters can be best detected using ...........

1) NIR imagery 2) Radar imagery 3) Thermal imagery 4) LiDAR imagery

6) AUwD$Om© {Z{‘©Vr H|$ÐmÀ`m Imbrbn¡H$s H$moUË`m KQ>H$m‘Ü ò B§YZ AgVo Am{U gd© AmpÊdH$ H$Mam CËnmXZm§da
AmpÊdH$ gmIir à{V{H«$`m AgVo?
1) ñQ>r‘ OZaoeZ ẁ{ZQ> 2) Q>~m©BZ Am{U OZaoQ>a
3) AUŵ Å>r 4) Hy$qbJ Q>m°da

6) Which of the following components of a nuclear power generation station contains the fuel and

has a nuclear chain reaction with all of the nuclear waste products ?

1) Steam generation unit 2) Turbine and generator

3) Nuclear reactor 4) Cooling tower

7) doëS>aÛmao dmnaë`m OmUmè`m Img {S>PmBZ Ho$boë`m Mîå`m§Zm åhUVmV:
1) amgm`{ZH$ g§ajU Jm°Jëg 2) Cƒ à^md Agbobo Jm°Jb
3) àXyfU{damoYr Mî‘m 4) H$mo~mëQ> ãby boÝggmaIo N>m`m§{H$V Mî‘m

7) Specially designed glasses that are used by a welder are called:

1) chemical protection goggles 2) high impact goggles

3) anti contamination glasses 4) shaded glasses like cobalt blue lenses

8) nmoëQ´r CËnmXZm§‘Ü ò AÞ {d{H$aUmMm CÔoe H$m` Amho?
1) A§Hw$a ’w$Q>Uo 2) naOrdr Zï> hmoUo
3) gmc‘moZocm {ZpîH«$` H$aUo 4) AÞ KQ>H$m§Mo {ZOªVwH$sH$aU

8) What is purpose of food irradiation in poultry products ?

1) Inhibition of sprouting 2) Destruction of parasite

3) Inactivation of salmonella 4) Decontamination of food ingredients
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9) nmoH$i Ad`dmÀ`m {N>ÐmgmR>r AmXe© n{hbr MmMUr _______ Amho.
1. N>mVrMm j-{H$aU 2. grQ>r ñH°$Z nmoQ> 3. USG CXa 4. E§S>moñH$monr

9) The ideal first test for hollow organ perforation is ______.

1. The erect chest X – ray 2. CT scan abdomen

3. USG abdomen 4. Endoscopy

10) {g[a¨OogMo {ZOªVwH$sH$aU H$aÊ¶mgmR>r gm‘mÝ¶nUo ....... Mm dmna Ho$bm OmVmo.
1) d¡pídH$ {H$aU 2) Aë’$m {H$aU 3) ~rQ>m {H$aU 4) J°‘m {H$aU

10) Syringes are commonly sterlized by employing .........

1) Cosmic rays 2) Alpha rays 3) Beta rays 4) Gamma rays

11) àdoemMo ‘mJ©, Am°naoeZ {WEQ>a Am{U à`moJemim ̀ m§gma»`m ~§{XñV ̂ mJm§Mo {ZOªVwH$sH$aU ______ dmnê$Z Ho$bo OmVo.
1) BÝ’«$maoS> {d{H$aU 2) A{VZrb {H$aUo
3) Cƒ D$Om© BboŠQ´m°Z {d{H$aU 4) Jm‘m {d{H$aU

11) Disinfection of enclosed areas such as entry ways, Operation theatres and laboratories are done

by using ______.

1) Infrared radiation 2) Ultraviolet radiation

3) High energy electron radiation 4) Gamma radiation

12) ’$m‘m©ñ ẁ{Q>H$b Am{U d¡ÚH$s` CËnmXZm§À`m {ZOªVwH$sH$aUmgmR>r ~mînObr¶ dm’o$Ûmao {ZOªVwH$sH$aU à{H«$¶m ..........
ñQ>r‘-ñQ>oabm`PoeZ Vmn‘mZmgm nma nmS>br OmVo.
1) 1210go 2) 160 0go 3) 450 0go 4) 6000go

12) Steam-sterlization temperature employed in moist heat sterlization of pharmaceutical and medical

products.

1) 1210 C 2) 160 0C 3) 450 0C 4) 6000 C

13) Imbrb {dYmZo nhm …
a) MZm}~rb AUweº$s AnKmV 26 E{àb 1986 amoOr Pmbm.
b) pñdS>Z‘Yrb emókm§Zm 1986 ‘Ü¶o AmOw~mOyÀ¶m n¶m©daUmV {H$aUm§Mo CËgO©Z (Radiation) Pmbobo g‘Obo.
c) MZm}~rb àH$ënmV J«°’$mBQ>Mm Cn¶moJ AUŵ Å>r (Reactor) W§S> H$aÊ¶mgmR>r Ho$bm OmV hmoVm.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho. 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a) Am{U (c) ~amo~a AmhoV. 4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV.

13) Observe the following statements :

a) Chernobyl nuclear power accident occured on 26 April 1986.

b) The Scientists from Sweden noticed increasing radiation in the surrounding environment

in1986.

c) Graphite was used to cool reactors in Chernobyl plant.

Answer options :

1) Only Statement (a) is correct 2) Statement (a) and (b) are correct

3) Statement (a) and (c) are correct 4) Statement (a), (b) and (c) are correct
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Amm¶grQ>r

1) 1872 À¶m nwamdm H$m`ÚmÀ`m H$moUË`m H$b‘mV BboŠQ´m°{ZH$ g§Xoem§~Ôb J¥hrV YaÊ`mMr VaVyX Amho?
1) H$b‘ 90 2) H$b‘ 88 3) H$b‘ 90 A 4) H$b‘ 88 A

1) Which section of the Evidence Act 1872 provides for drawing the presumption as to electronic

messages?

1) Section 90 2) Section 88 3) Section 90 A 4) Section 88 A

2) 1872 À¶m nwamdm H$m`ÚmÀ`m H$b‘ 90 A Zwgma BboŠQ´m°{ZH$ aoH$m°S>© V`ma Ho$ë`m~Ôb J¥hrV Yabo OmD$ eH$Vo Oa
XñVEodO Agob Va :
1) 10 df} OwZo 2) 5 df} OwZo 3) 30 df} OwZo 4) 12 df} OwZo

2) Presumption as to production of electronic records as per section 90 A of Evidence Act 1872

may be drawn if the document is :

1) 10 years old ’ 2) 5 years old 3) 30 years old 4) 12 years old

3) {‘{S>`m b°~ E{e¶mMo '{S>{OQ>b B§{S>¶m H$m°nm}aoeZ' Ago Zm‘H$aU Ho$ìhm H$aÊ¶mV Ambo?
1) gßQ>|~a 2017 2) gßQ>|~a 2016 3) Am°³Q>mo~a 2017 4) Zmoìh|~a 2017

3) When was Media Lab Asia renamed as Digital India Corporation?

1) September 2017 2) September 2016 3) October 2017 4) November 2017

4) {‘{ZñQ´>r Am°’$ Bbo³Q´>m°{Z³g Am{U Am¶Q>r ¶m§Zr {S>OrQ>b B§{S>¶m ¶m H$m¶©H«$‘mV ‘mo~mB©b JìhZ}g A§VJ©V Ho$boë¶m ......
¶m CnH«$‘mbm ’o$~«wdmar 2018 ‘Ü¶o Xþ~B© ¶oWo Pmboë¶m 6 ì¶m dëS>© JìhZ©‘|Q> g‘rQ>‘Ü¶o ~oñQ> BZ E‘-JìhZ©‘|Q>
nm[aVmo{fH$ {‘imbo.
1) C‘§J 2) B©-H«$m§Vr 3) B©-godm 4) E‘-godm

4) Ministry of Electronics and IT under the ambit of Digital India Program has launched Mobile

Governance Programme was named as ______ which received Best in m-government service

award at 6th World Government Summit at Dubai in Feb. 2018.

1) UMANG 2) E-Kranti 3) E-Seva 4) M-Seva

5) Imbrb {dYmZo {dMmamV ¿¶m.
A) ^maV gaH$maZo gßQ>|~a 2021 ‘Ü¶o bú¶ ^maV nmoQ>©b gwê$ Ho$bo.
~) bú¶ ^maV nmoQ>©b A§VX}er¶ Ob‘mJm©er g§~§{YV Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo MyH$ Amho/V?
1) XmoÝhr A Am{U ~ MyH$ AmhoV 2) Ho$di A MyH$ Amho
3) Ho$di ~ MyH$ Amho 4) darbn¡H$s EH$hr MyH$ Zmhr

5) Consider the following statements :

a) Government of India the Lakshya Bharat Portal launched in September, 2021.

b) The Lakshya Bharat Portal related to Inland waterways.

Which of the statement/s given above is/are incorrect ?

1) Both a and b are incorrect 2) Only a is incorrect

3) Only b is incorrect 4) None of the above is incorrect
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6) OyZ 2023 ‘Ü¶o Ho$ai amÁ¶ gaH$maZo K-FON àH$ën gwê$ Ho$bm. ¶m g§X^m©V 'O' Mm AW© H$m¶ Amho?
1) Am°naoeZ 2) Am°ßQ>rH$ 3) Am°ãOo³Q> 4) Am°J©ZrH$

6) In June 2023 the Kerala State Government launched the K-FON Project. In this context what

does ‘O’ stand for ?

1) Operation 2) Optic 3) Object 4) Organic

7) ^maV gaH$maMo M°pån¶Ýg Am°ZbmB©Z nmoQ>©b ...... er g§~§{YV Amho.
1) AmR> à‘wI CÚmoJ 2) gyú‘, bKy Am{U ‘Ü¶‘ CÚmoJ
3) ImU Am{U CËIZZ CÚmoJ 4) darbn¡H$s gd©

7) The CHAMPIONS online portal of Government of India is related to

1) Eight core industries 2) Micro, small and medium enterprise

3) Mining and quarrying industries 4) All of the above

8) AY©dmhH$mMo {dÚwV JwUY‘© gwYmaÊ¶mgmR>r Ë¶mV AewÕVm OmoS>Ê¶mÀ¶m à{H«$¶obm ...... åhUVmV:
1) àbonZ 2) ‘moqnJ 3) ‘yë¶pñWaU 4) gwYmaUm

8) The process of adding impurities to a semiconductor to modify its electrical properties is called:

1) doping 2) moping 3) valorisation 4) improvisation

9) à{V‘oMo dU©Z d dmMZ H$aÊ¶mgmR>r nwT>rbn¡H$s H$moUVm KQ>H$ dmnabm OmV Zmhr?
A) H$bXe©H$ H|$Ð ~) dU©N>Q>m H$) N>m¶m S>) AmH$ma
n¶m©¶r CÎmao …
1) ’$º$ A 2) A Am{U ~ 3) ’$º$ ~ 4) H$ Am{U S>

9) Which of the following factor is not used to describe and read image?

A) Focus of tilt B) Tone C) Shadow D) Shape

Answer options :

1) Only A 2) A and B 3) Only B 4) C and D

10) Imbrbn¡H$s H$moUVo EZmbm°J gmYZ ‘mZbo OmV Zmhr?
1) Zb-àH$ma Am{U {djonU-àH$ma gmYZo 2) gy{MV H$aUmao gmYZ
3) B§J«oQ>oS> BÝñQ®>‘|Q> 4) {S>{OQ>b {S>ñßbo ‘rQ>a

10) Which of the following is NOT considered as an analogue instrument ?

1) Null-type and deflection-type instruments 2) Indicating instrument

3) Inegrating instrument 4) Digital display meter

11) Imbrbn¡H$s H$moUVm n`m©̀  DVMs Mr ‘mb‘Îmm åhUyZ MwH$sMm Amho?
1) Cƒ BZnwQ> loUr 2) Cƒ n[anyU© AMyH$Vm
3) Xebj ‘Ü ò R>amd 1 ^mJ 4) doimodoir H°${b~«oeZMr Amdí`H$Vm

11) Which of the following options is INCORRECT as property of DVMs ?

1) High input range

2) High absolute accuracy

3) Resolution 1 part in million

4) Requirement for calibration from time to time
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12) {S>{OQ>b ñdmjar Á`m ì`º$sÛmao {MH$Q>dÊ`mMm hoVy Amho Ë`m ì`º$sMr Amho H$s Zmhr ho VnmgÊ`mgmR>r, Ý`m`mb` {ZX}e
XoD$ eH$Vo:
a) Vr ì`º$s {S>{OQ>b ñdmjar à‘mUnÌ V`ma H$aob
b) {S>{OQ>b ñdmjar à‘mUnÌmV gyMr~Õ Ho$bobr gmd©O{ZH$ H$s bmJy H$aÊ`mgmR>r Am{U Ë`m ì`º$sZo {MH$Q>dboë`m

{S>{OQ>b ñdmjarMr nS>VmiUr H$aÊ`mgmR>r BVa H$moUVrhr ì`º$s.
n¶m©¶r CÎmao :
1) (a) ~amo~a (b)~amo~a Zmhr 2) (a) ~amo~a Zmhr (b) ~amo~a
3) (a) Am{U (b) XmoÝhr ~amo~a 4) (a) Am{U (b) XmoÝhr ~amo~a ZmhrV

12) In order to ascertain whether a digital signature is that of the person by whom it has purpose to be

affixed, the court may direct :

a) that person to produce the digital signature certificate

b) any other person to apply the public key listed in the digital signature certificate and verify the

digital signature purposed to have been affixed by that person.

Answer options :

1) (a) correct (b) not correct 2) (a) not correct (b) correct

3) (a) and (b) both correct 4) (a) and (b) both not correct

13) Imbrbn¡H$s H$moUVr àUmbr àXmZ H$aVo Or SCAD ’$sëS>‘Yrb S>oQ>m EH${ÌV H$aVo Am{U gmXa H$aVo Am{U
Am°naoQ>aZm g‘OyZ KoÊ`mg Am{U Amdí`H$ Agë`mg, SCADA {Z §̀{ÌV à{H«$ òMr pñWVr gwYmaÊ`mg gj‘ H$aVo?
1) H$å ẁ{ZHo$eZ BÝ’«$mñQ´ŠMa 2) HMI gm°âQ>doAa
3) SCADA n ©̀dojr g§JUH$ 4) [a‘moQ> Q>{‘©Zb ẁ{ZQ²g

13) Which of the following provides a system that consolidates and presents the data from SCADA

field and enables operators to understand and, if needed, modify the status of SCADA-controlled

process ?

1) Communication infrastructure 2) HMI software

3) SCADA supervisory computers 4) Remote terminal units

14) àUmbrMo Am°Q>mo‘°{Q>Z H$aÊ`mgmR>r Imbrbn¡H$s H$moUVo [abo Am{U ZoQ>dH©$‘Yrb BVa CnH$aUm§‘Yrb g§dmX eŠ`
H$aVo?
1) `m§{ÌH$ [abo 2) g§»`mË‘H$ [abo 3) gm°{bS>-ñQ>oQ> [abo 4) AmoìhaH$a§Q> [abo

14) Which of the following makes the commuication between relays and other equipment in a network

possible, for doing automatin of the system ?

1) Mechanical relay 2) Numerical relay 3) Solid-state relay 4) Overcurrent relay

15) Imbrbn¡H$s H$moUVo ‘Q>o[a`b [aboÀ`m ‘mJrb ~mOyg XmIdbo Amho?
1) g§»`mË‘H$ H$sn°S> 2) EbB©S>r argoQ> ~Q>U 3) {Z §̀ÌU ~Q>U       4) ~m`Zar AmCQ>nwQ>gmR>r Q>r~r

15) Which of the following is shown at the back side of a materical relay ?

1) Numerical keypad 2) LED reset button 3) Control button    4) TB for binary outputs

16) g§X ©̂ ~ggmR>r Imbrbn¡H$s H$moUVm AkmV n[a‘mUm§Mm g§M dmnabm OmVmo?
1) P Am{U  V  2) P Am{U Q 3) Q Am{U δ 4)  V  > Am{U δ

16) Which of the following is a set of unknown quantities used for a reference bus ?

1) P and  V  2) P and Q 3) Q and δ 4)  V  and δ
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17) .... åhUOo g§ñWmË‘H$ H$m¶m©da {dnarV n[aUm‘ H$aÊ¶mMr j‘Vm Agcocr H$moUVrhr n[apñWVr qH$dm KQ>Zm
1) W«oQ> 2) go’$JmS>©
3) ìhcZa°{~crQ>r 4) pìh{S>Amo AmoiI àUmcr

17) ... means any condition or event that has the potential to adversely affect organizational performance

1) Threat 2) Safeguard

3) Vulnerability 4) Video Recognition System

18) ~maH$moS> [aS²>g© Am{U ñH$°Zg© ‘Ü¶o Imcrc n¡H$s H$moUVo ñH°$qZJ V§ÌkmZ dmnaco OmVo ?
1) Amo gr Ama 2) E‘ Am¶ gr Ama
3) AmdmO AmoiI àUmcr 4) ’$º$ (H$) ~amo~a

18) Which of the following scanning technologies are used in barcode readers and scanners?

1) OCR 2) MICR

3) Voice recognition system 4) Only (c) is correct

19) Or. B©. Amo, (GEO) Am{U Or. Eg. Amo. (GSO) CnJ«hm§À¶m g§¶moOZmMm dmna H$éZ qhX ‘hmgmJa àXoemV ZopìhJoeZ
H$aÊ¶mgmR>r Bòmo (ISRO) Zo H$moUVm Cnm¶ V¶ma Ho$cm Amho ?
1) Zm{dH$ Mrn 2) JJZ 3) {OAmoñnog 4) H$mgma

19) G. e. O, (Rage) and G. S. O. Which solution has been developed by ISRO (KHATHJ) for navigation

in the Indian Ocean region using combination of (RJ) satellites?

1) Navik Chip 2) Gagan 3) Geospace 4) Kasar

20) Imcrcn¡H$s H$moUË¶m pñdqMJ ZoQ>dH©$ ‘Ü¶o, gwédmVrnmgyZ eodQ>n¶ªV AI§S> g§àofU ‘mJ© H$aÊ¶mV ¶oVmo ?
1) g{H©$Q> pñdqMJ ZoQ>dH©$ 2) ‘ogoO pñdqMJ ZoQ>dH©$
3) n°Ho$Q> pñdqMJ ZoQ>dH©$ 4) ìhÀ ẁ©Ac pñdqMJ ZoQ>dH©$

20) In which of the following switching networks, a continuous communication path is made from

start to end?

1) Circuit switching network 2) Message switching network

3) Packet Switching Network 4) Virtual Switching Network

21) ADC ‘Yrb A§{V‘ ãbm°H$ a/an......... Amho Omo {S>{OQ>b ’$m°‘©‘Yrb {g¾ëgMo ~m`Zar ’$m°‘©‘Ü ò ê$nm§Va H$aVmo.
1) EÝH$moS>a 2) n[a‘mU 3) Yam 4) Z‘wZm

21) The final block in ADC is a/an .......... that converts signals from digital form into binary form.

1) encoder 2) quantise 3) hold 4) sample

22) {eS>rÀ`m VH$m©‘Ü ò dmnabo OmUmao darb {MÝh H$m` Xe©dVo?
1) B§{S>Ho$Q>a b°ån 2) AmoìhabmoS> hrQ>a 3) [abo H$m°Bb 4) gmobZm°BS> H$m°Bb

22) What does the above symbol, which is used in ladder logic, indicate ?

1) Indicator lamp 2) Overload heater 3) Relay coil 4) Solenoid coil

23) Imbrbn¡H$s H$moUË`m PLC Am°naoeZ MaUmV àmoJ«mq‘J Q>{‘©Zëg, A§VJ©V {ZXmZ BË`mXter g§dmX g‘m{dï> Amho?
1) BZnwQ> ñH°$Z 2) hmCgH$sqnJ 3) àmoJ«m‘ ñH°$Z 4) AmCQ>nwQ> ñH°$Z

23) Which of the following PLC operation step involves communication with programming terminals,

internal diagnostics etc ?

1) Input scan 2) Housekeeping 3) Programm scan 4) Output scan
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24) Imbrb {dYmZm§Mm {dMma H$am.
A) g{H«$¶ g§doXH$ ñdV…Mr D$Om© dmnê$Z g§doXZ H$aVmo.
~) {ZpîH«$¶ g§doXH$ gy¶m©nmgyZ ¶oUmè¶m D$O}Mm dmna H$ê$Z g§doXZ H$aVmo.
H$) g{H«$¶ g§doXH$ {Xdgm~amo~a amÌrhr g§doXZ H$aVmo.
S>) {ZpîH«$¶ g§doXH$ ’$º$ {Xdgm g§doXH$ H$aVmo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a Amho/AmhoV?
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) A, ~ Am{U H$ 4) darbn¡H$s gd©

24) Consider the following statements.

a) An active sensor senses by using its own energy.

b) A passive sensor uses energy from the sun to sense.

c) An active sensor sensing during the day time as at the night time.

d) A passive sensor only sensing during the day time.

Which of the statements given above is/are correct ?

1) Only a 2) Only a and b 3) a, b and c 4) All of the above

25) B§Q>aZoQ>da g§gmYZ emoYÊ¶mgmR>r dmnaë¶m OmUmè¶m nÎ¶mg H$m¶ åhUVmV?
1) AI§{S>V S>oQ>m bmoHo$Q>a 2) A{daV aoH$m°S>© bmoHo$Q>a
3) EH$g‘mZ aoH$m°S>© bmoHo$Q>a 4) ¶w{Z’$m°‘© [agmog© bmoHo$Q>a

25) What is the address used to locate a resource on the Internet called?

1) Discontinuous data locator 2) Discontinuous record locator

3) Uniform Record Locator 4) Uniform Resource Locator

26) JAVA (Omdm) g§JUH$ Amkmdbr àUmbr Imbrbn¡H$s H$moUË¶m AmkmdbrZo à^m{dV Amho?
1) 'C' Am{U 'C++' (gr Am{U gr ßbg ßbg) 2) BASIC (~ogrH$)
3) FORTRAN (’$moQ́>m©Z) 4) darbn¡H$s EH$hr Zmhr

26) JAVA a computer programming language is highly influenced by ______ language.

1) ‘C’ and ‘C++’ 2) BASIC 3) FORTRAN 4) None of the above

27) ...... V§Ìo ìhÀ¶w©AbmBÁS> g§gmYZmÛmao MmbUmè¶m godm Am{U AZwà¶moJmMo g§X ©̂ XoVmV.
1) {dVarZ g§JUZ 2) ³bmD$S> g§JUZ
3) gm°âQ> g§JUZ 4) g‘m§Va g§JUZ

27) ______ techniques refer to service and application that run through virtualized resource.

1) Distributing computing 2) Cloud computing

3) Soft computing 4) Parallel computing

28) EImÚm ì¶º$sMm qH$dm ì¶º$s¨Mm g‘yh qH$dm g§ñWoMm N>i H$aÊ¶mgmR>r B§Q>aZoQ>Mm dmna H$aUo, ¶mbm ...... Ago
åhUVmV.
1) B©-‘ob ~m°på~̈J 2) ñn°q‘J 3) gm¶~a ñQ>mqH$J 4) {’$etJ

28) Using the Internet to harass a person or group of persons or an organization is called...

1) E-mail bombing 2) Spamming 3) Cyber stalking 4) Phishing
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29) {S>{OQ>b B§{S>¶m A§VJ©V Á¶m gw{dYm emgZmZo bmoH$m§Zm {Xë¶m Ë¶mMr à{V{H«$¶m bJoMM KoUmar Or {gñQ>‘ V¶ma Ho$br
Ë¶mMo Zmd ...... Amho.
1) [aAb Q>mB©‘ Agog‘|Q> {gñQ>r‘ 2) a±S>‘ Agog‘|Q> {gñQ>r‘
3) a°nrS> Agog‘|Q> {gñQ>r‘ 4) [aPìh© Agog‘|Q> {gñQ>r‘

29) The following tool was developed under Digital India to collect feedback of e-services provided

by government rapidly. The interface is known as

1) Real time Assessment System 2) Random Assessment System

3) Rapid Assessment System 4) Reserve Assessment System

30) ‘mo~mB©b H$m°åß¶wQ>tJ ...... ¶m dmVmdaUmMm àH$ma XoIrb ‘mZbm OmD$ eH$Vmo.
1) {J«S> g§JUZ 2) AmYw{ZH$ g§JUZ
3) {dV[aV g§JUZ 4) darbn¡H$s H$mhrhr Zmhr

30) Mobile computing environment can also be considered as the type of

1) Grid computing 2) Modern computing

3) Distributed computing 4) None of the above

AdH$me{dkmZ

1) Imcrcn¡H$s H$moUË¶m XoemZo {S>g|~a 2022 ‘Ü¶o ""XZwar"" ZmdmMo A§Vami¶mZ àjonrV Ho$co Amho ?
1) CÎma H$mo[a¶m 2) X{jU H$mo[a¶m 3) V¡¶mZ 4) MrZ

1) Which of the following country has launched a spacecraft named "Danuri" in December 2022?

1) North Korea 2) South Korea 3) Taiwan 4) China

2) M§Ð¶mZ-3 Mo EHy$U dñVw‘mZ {H$Vr hmoVo?
1) 2800 {H$.J«°. 2) 3100 {H$.J«°. 3) 3900 {H$.J«°. 4) 4110 {H$.J«°.

2) What was the total mass of Chandrayaan-3 7?

1) 2800 Kg 2) 3100 Kg 3) 3900 Kg 4) 4110Kg

3) OrnrEg Ûmao CnbãY hmoUmè¶m ‘m{hVrMr AMyH$Vm .......... Amho
1) 100 Vo 0.1 ‘r 2) 100 Vo 0.01 ‘r 3) 1000 Vo 0 0.1 ‘r 4) 10001 Vo 00.01 {‘.‘r.

3) GPS position information has the accuracy in between ...........

1) 100 to 0.1m 2) 100 to 0.01m 3) 1000 to 0.1 m 4) 10001 to 0.01 mm

4) Am§Va-VmaH$s¶ A§Vao hr àH$me df© ¶m EH$H$mV ‘moObr OmVmV. EH$ àH$me df©© =
1) 1.4 × 1011 m 2) 9.46 × 1015 m 3) 37.84 × 1015 m 4) 150 × 108 m

4) The inter-stellar distances are measured in light years. 1 light year =

1) 1.4 × 1011 m 2) 9.46 × 1015 m 3) 37.84 × 1015 m 4) 150 × 108 m

5) ZH$mememór¶ H°$‘oè¶mV hdmB© N>m¶m{MÌUm§Mm AmXe© AmH$ma Imbrbn¡H$s H$moUVm Amho?
1) 23 × 23 go‘r 2) 22 × 22 go‘r 3) 5.9 × 5.9 go‘r 4) 23.5 × 23.5 go‘r

5) Which of the following is the ideal size for aerial photography in a cartographic camera ?

1) 23 × 23 cm 2) 22 × 22cm 3) 59 × 59cm 4) 28.5 × 23.5cm
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6) CMS-01 ¶m CnJ«hm~Ôc ¶mo½¶ {dYmZo AmoiIm.
a) ¶m CnJ«hmMo ^maVr¶ AdH$me g§emoYZ g§ñWoZo 17 {S>g|~a 2020 amoOr ¶eñdr àjonU Ho$co.
b) BómoMm 42 dm g§dmX CnJ«h Amho.
c) COVID -19 À¶m H$mimVrc BómoMo ho Xwgao ¶eñdr n«jonU Amho.
n¶m©¶r CÎmao :
1) (a) Am{U (b) ¶mo½¶ AmhoV 2) (a) Am{U (c) ¶mo½¶ AmhoV
3) (b) Am{U (c) ¶mo½¶ AmhoV 4) (a),(b) Am{U (c) ¶mo½¶ AmhoV

6) Identify the correct statements about the satellite Uchhad-01.

a) This satellite was successfully launched by the Indian Space Research Organization on December

17, 2020.

b) ISRO's 42nd communication satellite.

c) This is ISRO's second successful launch of Ujatkhau-19.

Answer options :

1) (a) and (b) are correct 2) (a) and (c) are correct

3) (a) and (c) are correct 4) (a), (b) and (c) are correct

7) dmVmdaUmVrb n[apñWVrer g§~§{YV JmoëS>rbm°ŠgMr KQ>Zm Imbrbn¡H$s H$moUË`m {Z{‘©VrgmR>r Amdûm`H$ Amho?
1) Xwæ`‘ {dlm§Vr 2) H°$S>oìh[aH$ ñn°P‘
3) E°{S>nmogoa 4) {bìha ‘m°{Q©>g

7) Goldilocks phenomenon in regard to atmospheric conditions are required for the formation of

which of the following?

1) Secondary Relaxation 2) Cadaveric Spasm

3) Adipocere 4) Livor Mortis

8) ŷ̂ m¡{VH$s` gd}jUmÀ`m Mw§~H$s` nÕVtMm dmna H$ê$Z ŷObmÀ`m emoYmer Imbrbn¡H$s H$moUVo `mo½`[aË`m g§~§{YV
Amho?
1) ‘moR>çm ŷOb Imoè`m§À`m Cn-n¥ð>^mJmMr aMZm {Z{íMV H$aUo. Q>oŠQ>mo{ZH$br {dñH$irV PmoZ QóqgJ.
2) ŷObmÀ`m Imoè`m§‘Yrb bmohmMo à‘mU {Z{íMV H$aUo. ŷn¥ð>mdarb gpÀN>Ð IS>H$ AmoiIUo
3) Xy{fV ŷObm‘wio Mw§~H$s` {dg§JVr AmoiIUo O{‘ZrVrb Amobmdm ‘°qnJ
4) Cn-n¥ð>^mJ S>mB©Šg {Z{íMV H$aUo. MwZIS>rÀ`m Jwhm QóqgJ.

8) Which of the following is correctly related to groundwater exploration using Magnetic methods

of Geophysical survey ?

1) Determining sub-surface structures of large groundwater basins.

Tracing tectonically disturbed zones.

2) Determining iron content in groundwater basins.

Identifying porous rocks in subsurface

3) Identifying magnetic anomaly due to contaminated groundwater

Mapping soil moisture

4) Determining sub-surface dykes.

Tracing limestone caves.
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9) nma§nm[aH$ FCC ~Ôb Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho?
1) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©H$Vm Agbobo bú` {Zio {XgVmV, Cƒ bmb namdV©Z

Agbobo bú` {hado {XgVmV Am{U Cƒ {hado namdV©Z Agbobo bú` bmb {XgVmV, Aem àH$mao Amnë`mbm
bú`m§Mo ImoQ>o gmXarH$aU {‘iVo.

2) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©Z Agbobr bú ò bmb {XgVmV, Cƒ bmb namdV©H$Vm
Agbobr bú ò XoIrb bmb {XgVmV, Am{U Cƒ {hadr namdV©H$Vm Agbobr bú ò {Zù`m {XgVmV, Aem àH$mao
Amnë`mbm bú`m§Mo ImoQ>o gmXarH$aU {‘iVo.

3) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©H$Vm Agbobr bú ò bmb {XgVmV, Cƒ bmb namdV©H$Vm
Agbobr bú ò {hadr {XgVmV Am{U Cƒ {hadr namdV©H$Vm Agbobo bú` {Zio {XgVmV, Aem àH$mao Amnë`mbm
bú`m§Mo ImoQ>o gmXarH$aU {‘iVo.

4) ImoQ>çm a§JmÀ`m g§{‘lm‘Ü ò, Cƒ Odi-Adaº$ namdV©H$Vm Agbobr bú ò bmb {XgVmV, Cƒ bmb namdV©H$Vm
Agbobr bú ò XoIrb bmb {XgVmV Am{U Cƒ {hadr namdV©H$Vm Agbobr bú ò {hadr {XgVmV, Aem àH$mao
Amåhmbm Q>r AmJ}Q²gMo ImoQ>o gmXarH$aU {‘iVo. .

9) Which of the following statement is CORRECT about a conventional FCC ?

1) In a false colour composite, targets with high near-infraed reflectance appear blue, those with

a high red reflectance appear green, and those with a high green reflectance appear red, thus

giving us a "false" presentaiton of the targets.

2) In a false colour composite, targets with high near-infrared reflectance appear red, those with

a high red reflectance also appear red, and those with a high green reflectance appear blue, thus

giving us a "false" presentation of the targets.

3) In a false colour composite, targets with high near-infrared reflectance appear red, those with

a high red reflectance appear green, and those with a high green reflectance appear blue, thus

giving us a "false" presentation of the targets.

4) In a false colour composite, targets with high near-infrared reflectance appear red, those with

a high red reflectance also appear red, and those with a high green reflectance appear green,

thus giving us a "false" presentation of the t argets.

10)  GIS, ‘Ü ò, {S>{OQ>m`PoeZ Xaå`mZ, arcsnap g{hîUwVm .............
1) an Mm eodQ> ApñVËdmV Agboë`m Mmn da ñZ°n H$aÊ`mg AZw‘Vr XoVo
2) H$‘mZrMm eodQ> ApñVËdmV Agboë`m {R>H$mUr ñZ°n H$aÊ`mg AZw‘Vr XoVmo
3) an are À`m eodQ> OdiÀ`m AmhoV da ñZ°n H$aÊ`mMr nadmZJr XoVo
4) an Mm ‘Ü`q~Xy ApñVËdmV Agboë`m H$‘mZmda ñZ°n H$aÊ`mg AZw‘Vr XoVo.

10) In GIS, during digitization, arcsnap tolerance .............

1) Allows the end of an are to be snapped to an existing arc

2) Dis-allows the end of an arc to be snapped to an existing are

3) Allows the end of an are to be snapped to the adjacent are

4) Allows the mid-point of an are to be snapped to an existing arc.

11) GIS, ‘Ü ò, ................. hr g§km Á`m dñVy§À`m ^m¡{‘{VH$ d¡{eï²>`m§Mo dU©Z H$aÊ`mgmR>r dmnabr OmVo Or n[adV©Zm§V
~XbV ZmhrV Am{U g‘Ýd` àUmbrnmgyZ ñdV§Ì AmhoV.
1) {OAmoH$moqS>J 2) Q>monmobm°Or 3) {J«S> 4) {deofVm

11) In GIS, ................. is the term used to describe the geometric characteristics of objects which do

not change under transformations and are independent of an co-ordinate system.

1) Geocoding 2) Topology 3) Grid 4) Attribute
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12) CnJ«h à{V‘m§dê$Z V`ma Ho$boë`m aofr` ZH$mem‘Ü ò, à‘wI aofoMr loUr ...... nmgyZ Agy eH$Vo.
1) H$mhr {H$bmo‘rQ>a Vo eoH$S>mo {H$bmo‘rQ>a bm§~r 2) H$mhr ‘rQ>a Vo eoH$S>mo ‘rQ>a bm§~r
3) 100 {H$bmo‘rQ>a Vo hOmamo {H$bmo‘rQ>a bm§~r 4) H$mhr ‘rQ>a Vo Xhm {H$bmo‘rQ>a bm§~r

12) In a lineament map prepared from satellite imagery, the Major lineaments can range from .......

1) A few kilometers to hundreds of kilometers in length

2) A few meters to hundreds of meters in length

3) 100 kilometers to thousands of kilometers in length

4) A few meters to Ten Kilometers in length

13) ADAS Mo ‘w»` C{Ôï> ‘mZdr KQ>H$m§‘wio hmoUmao añVo YmoHo$ H$‘r H$aUo ho Amho. `m‘Ü ò àJV V§ÌkmZ Am{U gwa{jVVm
àUmbtMm g‘mdoe Amho Oo añË`mdarb àdmgmXaå`mZ MmbH$m§Zm ‘XV H$aVmV. ADAS Mo nyU© ê$n H$m` Amho?
1) àJV S´moZ ghmæ` àUmbr 2) A±Q>r S°́J AnKmV àUmbr
3) àJV S´m`ìha ghmæ` àUmbr 4) Am°Q>mo S´moZ ghmæ` àUmbr

13) The main goal of ADAS is to reduce road risks that are caused by human factors. It includes

advanced technologies and safety systems that assist drivers during road journeys. What is the

full form of ADAS?

1) Advanced Drone Assistance System 2) Anti Drag Accident System

3) Advanced Driver Assistance Systems 4) Auto Drone Assistance System

14) gÜ`m hm eãX n¥ÏdrÀ`m n¥ð>^mJmÛmao namd{V©V/CËgO©H$ d¡{eï²>`nyU© BboŠQ´mo‘°¾o{Q>H$ ao{S>EeZ emoYyZ n¥ÏdrMr d¡{eï²> ò
AmoiIÊ`mgmR>r A{YH$ gm‘mÝ`nUo dmnabm OmVmo.
1) ~m`moBÝ’$m°a‘°{Q>Šg 2) namdV©Z 3) [a‘moQ> gopÝg§J 4) CËgO©Z

14) Currently the term is used more commonly to denote identification of earth features by detecting

the characteristic electromagnetic radiation reflected/emitted by earth surface.

1) Bioinformatics 2) Reflection 3) Remote sensing 4) Emission

15) {S>{OQ>b ’$m°a‘°Q>‘Ü ò [a‘moQ>br goÝñS> A°Zmbm°J S>oQ>mÛmao ^m¡{VH$ n`m©daUm{df`r {dídgZr` ‘m{hVr {‘idÊ`mMr H$bm
Am{U d¡km{ZH$ à{H«$`m Imbrbn¡H$s H$moUVr Amho?
1) [a‘moQ> gopÝg§J 2) gd}jUmMr VÎdo
3) Am°Q>mo‘oQ>oS> S>oQ>m H°$ßMa {gñQ>‘ 4) ’$moQ>moJ«m‘o{Q´H$ VÎdo

15) Which of the following involve art and scientific processes of obtaining reliable information

about physical environment by remotely sensed analog data in digital format ?

1) Remote sensing 2) Surveying principles

3) Automated data capture system 4) Photogrammetric principles

16) gwa{jVVoÀ`m g§X^m©V CBRN Mm AW© H$m` Amho?
1) g§JUH$ AmYm[aV g§gmYZ ZoQ>dH©$
2) Ho${‘H$b ~oñS> [añH$ ZoQ>dH©$
3) Ho${‘H$b, ~m`mobm°{OH$b, ao{S>Amobm°{OH$b Am{U Ý ỳpŠb`a
4) J§̂ ra ‘yb ŷV OmoIr‘ H«$‘m§H$
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16) What does CBRN stand for in the context of safety?

1) Computer Based Resource Network

2) Chemical Based Risk Network

3) Chemical, Biological, Radiological and Nuclear

4) Critical Basic Risk Number

17) ^maVmV hdmB© N>m¶m{MÌUmMo H$m‘ Imbrbn¡H$s H$moUVr g§ñWm H$aVo?
a) B§{S>¶Z EAa ’$mog© b) B§{S>¶Z EAa gìh} c) EZ.Ama.Eg.E. d) Am¶.E‘.S>r.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (a) Am{U (b) 3) darb gd© ~amo~a 4) (a), (b) Am{U (c)

17) Which of the following agency do aerial Photography Work in India ?

a) Indian Air Force (b) Indian Air Survey

Answer options :

1) (a) only 2) (a) and (b) only 3) All are correct 4) (a), (b) and (c)

18) OmJ{VH$ ZopìhJoeZ CnJ«h àUmbrVrb (Or.EZ.Eg.Eg.) ½bmoZmg hm CnJ«h H$moUË¶m XoemMm Amho?
1) A‘o[aH$m 2) a{e¶m 3) MrZ 4) ^maV

18) To which country the GLONASS satellite in the Global Navigation Satellite System (GNSS)

belongs ?

1) America 2) Russia 3) China 4) India

~m§YH$m‘
1) 1 KZ‘rQ>a ^aUmè`m 36 J«°‘ nmÊ`mMo à‘mU {H$Vr Amho?

1) 1 mole/m3 2) 2 mole/m3 3) 11 mole/m3 4) 22 mole/m3

1) What is the concentration of 36 g of water that fills 1 cubic metre?

1) 1 mole/m3 2) 2 mole/m3 3) 11 mole/m3 4) 22 mole/m3

2) ‘hmamï´> ’°ŠQ>arO {Z`‘ 1963 Zwgma, n°goOdo, H$m°[aS>m°a Am{U nm`è`m§‘Ü ò àH$memMr {H$‘mZ Vrd«Vm ___ bŠg
Agmdr.
1) 10 2) 50 3) 90 4) 160

2) As per Maharashtra Factories Rules 1963, the minimum intensity of illumination in passageways,

corridors and stairways shall be ___ Lux.

1) 10 2) 50 3) 90 4) 160

3) ~m§YH$m‘mgmR>r H$moUVo XJS> A`mo½` ‘mZbo OmVmV?
1) {d{eï> JwéËdmH$f©U 2-5 nojm H$‘r Agbobo XJS>
2) {d{eï> JwéËdmH$f©U 2:5 nojm OmñV Agbobo XJS>
3) 5:0 Am{U 7-0 Xaå`mZ {d{eï> JwéËdmH$f©U Agbobo XJS>
4) 3-5 Am{U 4-5 Xaå`mZ {d{eï> JwéËdmH$f©U Agbobo XJS>

3) Which stones are considered unsuitable for construction ?

1) Stones having specific gravity less than 2-5

2) Stones having specific gravity greater than 2:5

3) Stones having specific gravity in between 5:0 and 7-0

4) Stones having specific gravity in between 3-5 and 4-5
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4) ~m§YH$m‘mgmR>r H$moUVo XJS> A`mo½` ‘mZbo OmVmV?
1) {d{eï> JwéËdmH$f©U 2-5 nojm H$‘r Agbobo XJS>
2) {d{eï> JwéËdmH$f©U 2:5 nojm OmñV Agbobo XJS>
3) 5:0 Am{U 7-0 Xaå`mZ {d{eï> JwéËdmH$f©U Agbobo XJS>
4) 3-5 Am{U 4-5 Xaå`mZ {d{eï> JwéËdmH$f©U Agbobo XJS>

4) Which stones are considered unsuitable for construction ?

1) Stones having specific gravity less than 2-5

2) Stones having specific gravity greater than 2:5

3) Stones having specific gravity in between 5:0 and 7-0

4) Stones having specific gravity in between 3-5 and 4-5

5) H$m‘Jma (bmoH$) Am{U Ë`mMo H$m ©̀ dmVmdaU (‘erZ) `m§À`mVrb g§~§Ym§Mm d¡km{ZH$ Aä`mg Omo ‘ñHw$bmoñHo$boQ>b
{dH$ma H$‘r H$aÊ`mg ‘XV H$aVmo Ë`mbm ________ åhUVmV.
1) ì`mdgm{`H$ amoJ 2) EH«$mo’$mo{~`m
3) ‘mZgemór` Aä`mg 4) EJm}Zm°{‘Šg

5) The scientific study of the relationship between the workman (People) and his working environment

(Machine) that helps in reduction of musculoskeletal disorders is called __________.

1) occupational disease 2) acrophobia

3) psychological study 4) ergonomics

6) OSHA Zwgma, STEL Mo nyU© ê$n H$m` Amho?
1) em°Q>© Q>‘© EŠgnmoOa ‘`m©Xm 2) gwa{jVVm {dfmar EŠgnmoOa nmVir
3) gwajm dmhVyH$ ñ’$moQ>H$ ‘`m©Xm 4) AënH$mbrZ ñ’$moQ>H$ nmVir

6) As per OSHA, what is the full form of STEL?

1) Short Term Exposure Limit 2) Safety Toxic Exposure Level

3) Safety Transport Explosive Limit 4) Short Term Explosive Level

7) EH$ Z‘wZm Á`m‘Ü ò "n' doJdoJù`m ẁ{ZQ²gÀ`m àË òH$ g§̂ mì` Z‘wÝ`mMr {ZdS> hmoÊ`mMr g‘mZ g§Yr AgVo Á`m‘Ü ò
Z‘wZm {ZdS>Ê`mMr g‘mZ g§Yr XoIrb gy{MV hmoVo.
1) AY©-`mÑpÀN>H$ Z‘wZm 2) gmYo `mÑpÀN>H$ Z‘wZm
3) ñVarH¥$V `mÑpÀN>H$ Z‘wZm 4) ‘ëQ>rñQ>oO `mÑpÀN>H$ Z‘wZm

7) A sampling in which each possible sample of ‘n’ different units has an equal chance of being

selected which also implies an equal chance of selection into the sample is called as

1) quasi-random sampling 2) simple random sampling

3) stratified random sampling 4) multistage random sampling

8) SWOT åhUOo H$m`?
1) gm‘Ï ©̀, H$‘Hw$dVnUm, AS>Wio, Y‘Š`m 2) gm‘Ï ©̀, H$‘Hw$dVnUm, g§Yr, Y‘Š`m
3) gm‘Ï ©̀, H$‘Hw$dVnUm, A{^‘wIVm, {dMma 4) ‘O~yV, H$‘Hw$dV, AS>Wio, {dMma

8) What is SWOT ?

1) Strength, Weakness, Obstacles, Threats 2) Strength, Weakness, Opportunities, Threats

3) Strength, Weakness, Orientation, Thought 4) Strong, Weak, Obstacles, Thought
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9) ^maVr¶ aoëdoZo gwa{jVVm dmT>{dÊ¶mgmR>r 'H$dM' ZmdmMr Am°Q>mo‘°{Q>H$ Q´>oZ àmoQ>o³eZ (ATP) àUmbr A‘bmV AmUbr
Amho. ho V§ÌkmZ H$moUr {dH${gV Ho$bo Amho?
1) Bòmo 2) S>r.Ama.S>r.Amo. 3) ^maVr¶ aoëd 4) Ama.S>r.Eg.Amo.

9) Indian Railway has introduced Automatic Train Protection (ATP) system called ‘Kavach’ for

enhancing safety. Who has developed this technology ?

1) ISRO 2) DRDO 3) Indian Railway 4) RDSO

10) H$moadm Am¶wY H$maImZm H$moUË¶m Xoemgmo~VÀ¶m g§¶wº$ CnH«$‘mV AK-203 A°gm°ëQ> am¶’$btMr {Z{‘©Vr H$aV Amho?
1) OnmZ 2) a{e¶m 3) ¶yEgE 4) ’«$mÝg

10) Korwa ordnance factory is manufacturing AK-203 assault rifles in a joint venture with which

country ?

1) Japan 2) Russia 3) USA 4) France

11) Imbrbn¡H$s H$moUVo H$WZ/H$WZo ~amo~a Zmhr?
a) AmB© EZ Eg ‘moa‘wJmAmobm B§{S>¶Z ZoìhrÀ¶m dm°a{en {S>PmBZ ã¶yamoZo {S>PmB©Z Ho$bo Amho.
b) hm EH$ ñQ>oëW JmBS>oS> {‘gmB©b [S>ñQ´>m°¶a Amho.
c) hm nr-15 ~«mdmo àmoOo³Q>Mm Xÿgam OhmO Amho.
d) ¶mVrb 90% nmQ>© Amnë¶m XoemV ~ZdÊ¶mV Ambo AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (c) Am{U (d) 4) ’$º$ (d)

11) Which of the following statement/ statements is/are not correct ?

a) INS Mormugao has been designed by the Warship Design Bureau of the Indian Navy.

b) Itis a stealth guided missile destroyer.

c) It is the second ship of the P-15 Bravo project.

d) 90% of these parts are made in our country.

Answer options :

1) Only (a) 2) Only (b) and (c) 3) Only (c) and (d) 4) Only (d)
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CÎmao

(5) D$Om© V§ÌkmZ d AmpÊdH$ àH$ën,Amm¶grQ>r, AdH$me{dkmZ

D$Om© V§ÌkmZ d AmpÊdH$ àH$ën

1-1 2-3 3-4 4-4 5-4 6-2 7-2 8-2 9-1 10-2
11-2 12-2 13-2 14-4 15-3 16-4 17-4 18-2 19-1 20-3
21-4 22-1 23-3 24-4 25-3 26-1 27-2 28-2 29-3 30-4
31-3 32-1 33-3 34-3 35-2 36-2 37-4 38-2 39-1 40-2
41-4 42-4 43-3 44-3 45-2 46-2 47-1 48-2 49-1 50-2
51-3 52-3 53-3 54-4 55-3 56-3 57-3 58-1 59-3 60-2
61-2 62-2 63-2 64-4 65-2 66-1 67-4 68-4 69-4 70-3
71-4 72-4 73-3

AUw{dkmZ

1-3 2-1 3-1 4-4 5-3 6-3 7-4 8-3 9-1 10-4
11-2 12-1 13-4

Amm¶grQ>r

1-4 2-2 3-1 4-1 5-3 6-2 7-2 8-1 9-1 10-4
11-4 12-3 13-2 14-2 15-4 16-2 17-1 18-x 19-1 20-1
21-1 22-3 23-2 24-4 25-4 26-1 27-2 28-3 29-3 30-3

AdH$me{dkmZ

1-2 2-3 3-2 4-2 5-1 6-4 7-3 8-1 9-3 10-1
11-2 12-1 13-3 14-3 15-4 16-3 17-4 18-2

~m§YH$m‘

1-2 2-2 3-1 4-1 5-4 6-1 7-2 8-2 9-4 10-2
11-4


